KEREUGELLRR (—ZRE- 1HAD)

(P -Bit)
01 ERERS OE13mm-ERAKEI0N/A  <ESHE
e | B J5->1 (BARIR1,280M) J5—>2 (EARIR1,290M)
A Ha Ne i = Me =
HARE 1,060 1,280 220 20.75 1,290 230 21.70
BiErE 0 0 0 - 0 0 -
it 1,060 1,280 220 20.75 1,290 230 21.70
012 FETHE O@20mm-EAKSE20m/H %3 AR
i | B J9->1 (EAkIL1,280M) J9->2 (EARIL1,290M)
A Me Me g = Me =
HARE 1,110 1,340 230 20.72 1,350 240 21.62
BiErE 1,200 1,450 250 20.83 1,450 250 20.83
it 2,310 2,790 480 20.78 2,800 490 21.21
013 FETHE O@20mm-ERAKE25M/H x4 ARS
i | B J9->1 (EAkIE1,280M) J9->2 (EAkIR1,290M)
A e e = e isnm =
HARE 1,110 1,340 230 20.72 1,350 240 21.62
BiErs 1,875 2,275 400 21.33 2,275 400 21.33
it 2,985 3,615 630 21.11 3,625 640 21.44

XBTRIERCE X-F—ERAR S HTT.

B IMEFES

B (R5.10.25)



KEREUGELLRR (B5RE- 10ARD)

(P -Bit)

01 FEEQD - AHA- OE100mm- ERKE3,000m/ 5
e | B J5->1 (BARIR1,280M) J5—>2 (EARIR1,290M)
A Ha Ne i = Me =
HARE 2,900 28,000 25,100 865.52 19,000 16,100 555.17
BiErE 768,250 942,400 174,150 22.67 942,650 174,400 22.70

it 771,150 970,400 199,250 25.84 961,650 190,500 24.70
012 BEEQ R - OE75mm- BRKE1,800m/ 5

i | B J9->1 (EAkIL1,280M) J9->2 (EARIL1,290M)
A Me Me g = Me =
HARE 2,600 16,000 13,400 515.38 11,000 8,400 323.08
BiErE 456,250 558,400 102,150 22.39 558,650 102,400 22.44

it 458,850 574,400 115,550 25.18 569,650 110,800 24.15
013 EREG - AHA- OES0mm- ERKE1,500m/ 5

i | B J9->1 (EAkIE1,280M) J9->2 (EAkIR1,290M)
A e e = e isnm =
HARE 2,300 7,000 4,700 204.35 5,500 3,200 139.13
BiErs 378,250 462,400 84,150 22.25 462,650 84,400 22.31

it 380,550 469,400 88,850 23.35 468,150 87,600 23.02
014 FRE@ - 2 OE40mm- ERKE300n/ 8

g BT J—>1 (BARE1,280M) JP5—>2 (BARIE1,290M)
A e e e = Me i =
BEARARE 1,630 4,400 2,770 169.94 4,000 2,370 145.40
BiERle 66,250 78,400 12,150 18.34 78,650 12,400 18.72

it 67,880 82,800 14,920 21.98 82,650 14,770 21.76
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